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< 149,000
Al 4,639,453
SgetdMy 2tel 4,788,453 4,511,346 277,107
< 149,000
Al 4,639,453
CCTVSEAUEMEH 23 3,594,768 4,254,861 A 660,093
201 Let249] 1,598,294 1,679,261 A80,967
01 At 22l 23,758 16,702 7,056
O L Et==EH| 23,758
o(CCTVE g tdHEH S X 4,000,000& 4,000
o(CCTVE St ME QHEIHIOIHAA 1EAIES A
- OH 19,146,000& 19,146
o(CCTVE &t MY SI1EE I 22l
612,000& 612
02 =24l 1,574,536 1,662,559 88,023
o0z22= % HA 605,939
oz CCTVAIAE MO 40,000,000& 40,000
oCCTVEEMEEH 2HY sz
4,620,000& 4,620
=o(CCTV & 83l&x 561,319,000& 561,319
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AN THE A

dM: FESEet2H
& SEAME 2e (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAIE ZHI S X 968,597
o(CTVE &t EHE SERAE S
350,000, 000& 350,000
o(CTVEEANHEH ZLIHZE Y
618,597,000& 618,597
401 AIEHI L 2 CHYI 1,767,700 2,033,000 A 265,300
01 A& HI 1,767,700 2,033,000 A 265,300
OL® CCTV ¥ S 2(XH&)ed cCTv A
250,000, 000& 250,000
OCCTV AFZH(BZ)XN oA ALY
56,700,000& 56,700
O THLHAEAIAE A ALY
1,000,000, 000& 1,000,000
OAOGE WS2clAAE 2= 195,000,000 195,000
OME U IAYHE CCTV 25
200,000, 000& 200,000
OAMNEL(ZUU0IE)ALAE FIt 25
56,000,000& 56,000
OXNYZ 10035 (R E-LH7) CCTVA X
10,000, 000& 10,000
405 XtatE SHI 228,774 542,600 A 313,826
01 AR E S FH S 228,774 542,600 A 313,826
OXsdg CCTV 82 2H AAE 54
62,274,000 62,274
OCCTV S MEH HASNEEBHEEX S
= 85,000,000& 85,000
OIS A (KT,LG) sId =3t HH &g
50,000,000& 50,000
OMIIAAE 2Al AIAE B4
31,500,000& 31,500
CCTVS S AT EHZ S 600,000 0 600,000
< 125,000
Al 475,000
401 AIEHI L 201 600,000 0 600,000
< 125,000
Al 475,000
01 A& HI 600,000 0 600,000
OXSOIE YHE CCTVEXI AE(E F2UEN
Ol &) 600,000,000& 600,000
< 125,000
Al 475,000
CCTVE EotM Ml 2el(NSHISE3AH) 263,685 256,485 7,200
201 et 260,928 253,728 7,200
02 2324l 260,928 253,728 7,200
OxSstw CCTVEEAEME HAHZER
19,008, 000& 19,008
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AN THE A

Hu: MPsoTRE
el SHOEME e (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ox=Sstu CCTVS S HAUE HH 2UHE 2
== 241,920,000 241,920
802 BtEt= DI EF 2,757 2,757 0
03 JIEtEtEt 3 S 2,757 2,757 0
TEsW TV SAEHYH HAsds T
&rof Bhg 2,757,000 2,757
2020 HA e TAIXZEAEY 80,000 0 80,000
< 24,000
Al 56,000
401 Al HI K 201 80,000 0 80,000
< 24,000
Al 56,000
01 A& HI 80,000 0 80,000
©2020F HEMY SHZA =HAY
80,000,000& 80,000
< 24,000
Al 56,000
AQOLEAE =4 250,000 0 250,000
401 AIEHI L 201 250,000 0 250,000
01 A& Hl 250,000 0 250,000
OACLEAE Jl=He =8 &4
250,000,000 250,000
MEES(Merd ) 953,000 910,000 43,000
WEHHX S 739,000 689,000 50,000
IISNES 739,000 689,000 50,000
702 JISEES 739,000 689,000 50,000
(RPIE=RSE-—i= 739,000 689,000 50,000
OM:t2el Iz 739,000,000 739,000
RSN 214,000 221,000 A7,000
EHE "&tdt" Tof =7 At 214,000 221,000 A7,000
311 X+ S 01 X &k & 14,000 21,000 A7,000
01T Al -2 - 2XNSHLISXHL SO0 K& E 14,000 21,000 A7,000
OEHZ "4ttt "TIaH= 7 HI Ol Xt & &
14,000, 000& 14,000
601 XL S A S&e 200,000 200,000 0
01 Al -2 - FRNEHLI UL =SS 200,000 200,000 0
O S "4t "I =7 H *S 4 &
200,000, 000& 200,000
HHE2HZ (XA ) 101,200 101,200 0
Jl= &l 101,200 101,200 0
JlE&l 101,200 101,200 0




S MEHerd It
M SHNSHAH| (XA )
@2 Jl2&tl

SA - ZE-B(EA) - NRAY - B S il &t o il

201 Le-2d| 9,000 9,000

01 At 22l 9,000 9,000
O el 6,000,000& 6,000
O= &l 3,000,000 3,000

202 Odl 84,000 84,000

01 = LHAO YI 84,000 84,000
O=UWEZ I 280,000& x25H x12& 84,000

203 YR =& 8,200 8,200

01 I 228 YR =2H 4,000 4,000
OHEZAN= 29 4,000,000& 4,000

04 BENSS LR =L 4,200 4,200
ORAN2EIRFAHI 350,000& =128 4,200




